7
)
I
*T“

Q\ 17 - DD

K7

AAT1VT
r7

TAKIGEN

#8827

1708

CONTAINERS / TRUNKS

AVFFH-h307

FD-44-TB YU—X

LR

BRES
Product No.

FD-44-TB-1

FD-44-TB-2

FD-44-TB-3

FD-44-TB-4

FD-44-TB-5

FD-44-TB-6

FD-44-TB-7

FD-44-TB-8

FD-44-TB-9

FD-44-TB-10

FD-44-TB-11

FD-44-TB-12

FD-44-TB-13

FD-44-TB-14

FD-44-TB-15

FD-44-TB-16

%8 Feature

o Ry JREBDBEANMENDBR T,

e JU—LDRSZ/EITDIE T HENYIXT
fEBTENTEFT,

o J—F+—8 AL —hERE B (TAMAIF A ZFH VT
RO, TH A U EEHELD FhEMUTE
ECHTAZUICKVERTT,

* PILZETEETYI,

° QU TRIRICHIITONET,

® Parts for making box and lid frames.

© Specify the frame length and parts can be made to any size.

@ Since corner parts and straight parts are rounded on
their exterior, they provide a sense of design as well as
protection from injury.

* Lightweight aluminum design.

© Can be put together easily with bolts.

IERLER R BmE # & =AML fis & WREE (g e
Component parts| Product name Material Finish Remarks Mass Code
PILIZOLER N v s
AMEI—F— 2 IVIN—BEE
Body corner AIur'n(iﬁEr?alloy Silver coated 55.7 64291
LSt 0OmmIL E 1
i 7L 100mmELETmm
FiEmIL—LA 4Eith ;
(A6063S) Starting from 100mm | 0.75/1mm 64292
Front frame Aluminum extrusion Textured in Tmm i>.r<1<1:rements
7 IL= ittt 103001%1?0“&1:
BT IL—L = it mme - mm i
(A6063S) Starting from 100mm | 1.3/1Tmm 64293
Depth frame Aluminum extrusion Textured in Tmm i>r<1crements
100~2,160mm
wEIL—L 7L S s i 100mmE T mmEifiL
Reinforcing (A6063S) Textured | Starting from 100mm | 0.285/1mm 64294
frame Aluminum extrusion in Tmm i>.r2t1:rements
FIVZIZOLESR s Vi
E1—1+— 2 )VIN—2E
Lid corner Alum(iﬁegalloy Silver coated 63.0 64295
100~2,240mm
EIL—L 7 Acoess)” Starting fram 160mm | 1.0/1 64296
; tarting from mm .0/Tmm
Lid frame Aluminum extrusion Textured in Tmm i>.r<1§rements
S RUPIR
Rl (PA6-G30) 13.0 64297
9 Polyamide
HEZ—\E—L\ Z;E;JUI/S;(?E?% Elgﬁﬁﬁlg' 24.6 64298
. . ectrolytic .
?gmggg;g Cast stainless steel polishing
wruss 5LARESEN,
s IFL>o0 pZm|
Handle ring Stainless steel sheet 134.6 64299
Ethylene propylene rubber
Pk AFYLREE | APSAUAEE
Onigirliz-ltype (SUS304) Hairline 82.7 64300
handle base Cast stainless steel finish
AN AFYLZEEN APSIULE
Rabbitc-l e (SUS304) Hairline 58.9 64301
handle E)ya%e Cast stainless steel finish
P o AT L A ERRE
R (5US304) Electrolytic 15.5 64302
P Cast stainless steel polishing
M4>‘<‘15 PILZ M EB7ILYT b+ 1y ~10M@ 1.7/18
INFw K (A6063S) Black 155t/10 bes 1971 oc 64303
small nut Aluminum extrusion anodized pcs. : pc.
= DILIN—
10 i FILTA 12 11008 1.3/1@ 64304
small nut Aluminum extrusion Silver 1set/10 pcs. 1.3/1pc.
anodized
M4 =
. PILZ M EB7ILYTH N
Jsren | T g | s 0508 | s
nut 9 Aluminum extrusion anodized pes. : pc.
M3 =
. FILZ M EB7ILVYTH N
g | T G | Jmaniom | DenE | g
nut 9 Aluminum extrusion anodized pes. : pc.




AVFFh307

P IV THR Y J ABRNER &

ALUMINUM BOX ASSEMBLY COMPONENT PARTS

7
BRES RoHS =3 [51nES % = FmEft E fii & RUREE () mE U
Product No. 07| Component parts|Product name Material Finish Remarks Mass Code |
+
M4X14.5 VIS k) EB87ILYT N
FD-44TB17 K IF v K (A6063S) Black R SANEL A 64307 |
small nut Aluminum extrusion anodized pes. : pc. g
-~
Y, M2x26 i P 12y 110/ 4.7/1@ 3
FD-44-TB-18 ([ J ’,.’o KFvhk .(A60635) . Silver 1set/10 pcs. 4.?/1 pC. 64308 >
large nut Aluminum extrusion anodized S
- M> 7IUS bk S DR R -
FD-44T8-19 K o gt Ao (A60635) ThRn 1set/10 pcs. e 64309
g nut Aluminum extrusion anodized Stainless steel helical : pc.
insert installed
1€y M 10f@
M5X31.75 FIL iR BB7ILIAI N | ATYLANUY—EE 5.5/11@ NUF
FD-44-TB-20 o KFvhk (A6063S) Black 1 set/10 pcs. 5 '5/1 c 64310
large nut Aluminum extrusion anodized | Stainless steel helical ) pc. b—9—
insert installed
M5 1t v k1018 BT
K38k VS BB7ILIAI N | ATYLANUY—EE 4.6/118
FD-44-TB-21 o large triole (A6063S) Black 1 set/10 pcs. 4 '6/1 c 64311 - L
gnut P Aluminum extrusion anodized | Stainless steel helical ) pe. ‘I:}
insert installed =7V
@ ROHS10ESXMGE A : RoHS10iERICHISTIEETT, ( RIS+ LT -
¥1 TL—AOYIMPS v I T, ST AL SFIRGIC TROE T, D50z RTRT LRI -
%2 BUNFRRACE S RIVERFRL THDEE Al \RIVERR T2 BSOfRITEE - B S 1 5mm, CAD7_ SEST/O PLUCCHREL, ) | ——
%1 Work on frames such as cutting to length, tapping, and drilling can be done for a separate fee. fiIlgr;%rg\l/sgloaedgkslec?%met%ee%aﬁi Z\Q website AAT71YT
%2 Screws and panels for installation not carried for sale. Recommended thickness of panels for 9 ’ k7
installation is 1.5mm. FD-44-TB 3= N —
e
FD-44-TB ¥U—X I CTHiE 0
FD-44-TB Series Assembly A{AJ—F— Body corner P %
. . T -
WMax85 iU FD-44-TB-3 =
o - X N
ﬁu'cl‘f)( —JH BIE7L— LA sash flat head screw Depth frame P2
Completed Image FD-44-TB-2 A 4 XE I
Front frame "\ Q1 4 WFELEE 2
. FD-44-TB-11 (S
Rabbit-type o
handle base v

| ,‘ Driuing/tappin
S8 ,

#fE7L— b
FD-44-TB-12
Retrofit plate

Body corner

& N
ey "\%%\ ¢ N
-

M5X30
#ﬁ:ﬁﬁaﬁ)v k M5x30
%2 ANANFRIL S %2

hex socket bolt hex socket bolt

" | ' ,(/S
BICEWE
@\w WFBEE
FD-44-TB-10
Onigiri-type handle base
HIE7L— L4
~_FD-44-TB-2
Front frame

FD-44-TBIN—F v MBAHA X—D

Z1—7— Lid corner
KRy TINT %1

*2

Lid corner

W AVENN
FD-44-TB-6
Lid frame

X1 TU— LD v 7L, S IR E (FBIRERC TRDE D,

M4 x84 v U

FD-44-TB bar nut mounting example
J\—=7v bFFD-44-TB, FD-46-TB, FD-55-TBIC

FERTEFRY, .
Bar nuts can be B W?JH_I *1
used with FD-44-TB, ? Drilling
FD-46-TB, .
and FD-55-TB. fgﬁﬂ ‘;B— 4A
Reinforcing frame
R M4ax 84Xt L
INBIZINF b %2
Small nuts in - round screw
small grooves 4 g
AN R TL— LB EE
_ FD-55-TB-12
®p m‘orcing frame base
S~ KBICKF b

Large nuts in
large grooves

%2 BUITRAAL £/NRIVIFERFEL THDFEE Ao/ \RIVZEUT T DBEDHRIREFIAE-EEH1.5mm.
%1 Work on frames such as cutting to length, tapping, and drilling can be done for a separate fee.
%2 Screws and panels for installation not carried for sale. Recommended thickness of panels for installation is 1.5mm.

PA TP RETHRRIGINY T AN
()

Create Any Box You Can
Imagine

oSy o
Portable rack

TAKIGEN

#a 27

—W

O fBIFIF7 >V WebH 1 b ED TR EE L, www.takigen.co.jp

1709




